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1. When a 1kg lump of metal travelling with speed ~_1- 9 T 1. urg a1 s 0.4 ¢ @rer § R

0.4 ¢, its momentum is p. If its speed is doubled YT §; Tl SEBT AT p §1 A FHA =@
the momentum of metal lump will be - Bl R < W, ol 41 @ fifS Tl BT T k
(1) 2p | S W —
(2) Morethan4p | ' 0 2zp.
‘ : @ 4pd s
(3) 49 - @) 4p
(4) Morethan2pbutlessthan4p @ 2p¥ fe foeg 4p ¥ A
2. Natural rubber is a linear polymer of - . 2. Wiphie & Waw q5ad & —
(1) 2 - methyl -1,3 — butadiene (1 Z—ﬁf@m -1,3 - GTRET BT
@ 2- chloro - 1,3- butadiene (2 2 AR -1,3- TSR BT
(3).1,3- butadiene | ) 1,3-ERE @
(4) 2-cyano - 1,3- butadiene @) 2-wEET 1,3 - FERET &1
3. Formation of interfascicular cambium and cork 8. wi &y ¥ ffa oo SRmRT §
cambium from fully differentiated NI QI ©d i er fwior e gir
parenchymatous cells is possible due to - - . . S
(1) Reverse (2)«Differentiation SO RAodia e 3@ RYe B erer
differentiation | , ' . BRI -
(3) Dedifferentiation (4) Redifferentiation 3) AT & s @ gaifeT & @ro
4. \Which of the following is pyridoxine? : 4. fr=foafga # 9 e yaReEifeaT 2?2
-(1) Vitamin By, (2) Vvitamin Bz - (1) fei™ By, (2} f3er®= B,
(3) Vitamin B; (4 Vitamin Bs (B) e B, . (@) faeif Bs -
5. X max of following compound Is - 5. fmfoRRad S® B Admax & —
(1 300nm (2) 343 nm (1} 300 nm - () 343nm
(3) 338 nm @) 333nm (3) 338 nm - (@ 333nm
6. wildlife Institute of India is situated at - 6. R BT TuSig G Haf ey 87
' (1) Dehradun . (2) Mumbai - ) de=rgd (2 was
(3) Jaisalmer (4) Jaipur (3) SNTeRR 4) wiEgR ' " -
7- The blood glands in Pheritema are found in = 7- BRR ¥ <o TRRT 5 @i § U W
~ which segments? 5 ' 8? B
(1 7,89 2 1,23 - (1) 7,89 . @ 1,2,3
®) 4,56 4 10,11,12 @) 4,5,6 4) 10,11, 12
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8. Mitochondria are present in which region of the ” 8. 3ppIo] B by Wi # AECIPitgar WY S
sperm? =14
(1) Tail® (2) Neck | (1) 7o " (2)
(3) Acrosome (4) Middle piece ” 3) U @) 7eg Gvg
9. Homolytic fission of a covalent bond results in| 9 TEGASIF 3EY B GHIY 3G P HeRawy
the formation of - T B — ’
(1) Carbocation (2) Carbanion (1) FEea (2) ST
(3) Free radical (4) A heteropolar | (3) g1 eI 4) o faumgdg
species " el
10. The correct order of decreasing acid strength 10 frfafead § v g8 o wmed &1 wé
is - | T -
(t) CICH,COOH > Cl2CHCOOH > ClsC COOH > (1) CICH2COO0H > Cl,CHCOOH > ClsC COOH >
CH3COOH CH3COOH
(2} CH3COOH > CICH2CO0H > Cl,CHCOOH > Cl:C (2) CH3COOH > CICH:COOH > Cl;CHCOOH >
COOH ) ClsC COOH
(3) CL.CHCOOH > CH3COQH > CICH2CO0H > ClsC (3} Cl,CHCOOH > CH3COOH > CICH2COOH >
COCH ) ClaC COOH . _
(4) ClsC COOH > Cl:CHCOOH > CICH,COOH T (4} CIsC COOH > CI:CHCOQH > CICH2COOH >
CH3COOH CH;COOH
11. Select the correct statement - 1. & FeF &1 99 DIY —
(1) Light-harvesting system in photosynthesis is (1) WepTe AT F YpTR—ANTOT
called antennae (&rdRen) o3 VT FEaar 8
(2) Reaction centre in photosynthesis is formed (2) spTYr Weeer ¥ ST B @ AEi
by xanthophyli pigments only Hael Sefbel quidl B gIRT BT &
(3) Reaction centre of PS-lin P680 (3) ps-1 & AMfHAT o5 P80 &
(4) Reaction centre of PS-ll is P700 'T (4 ps-1i &7 AfAfFaT & P700E
' .
12, Which of the following is not a characteristic 12. fpafaRad § Q @ 9 99 Tdia BT ARIE
feature of class Aves? T TE &7
(1) Renal portal system is well developed “ (1) gaw e 93 gof Rt g ©)
(2) Exoskeleton is epidermal and horny (2) grET BHI AfereRdt e A e 7
(3) Heterocoelous vertebrae @) fawrrdl B
(4) st 3ife o geuce ufger der daeT
{(4) Large eyes with sclerotic plates and a pecten ’ '
; . BT ¥
: |
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13. A fish 40 cm beneath the surface of a pond éees,

a bird flying directly overhead. The bird is
actually 18 cm abov'e the water. The distance of
the bird as seen from the fish will be -

(2} 64 cm
T @ 60em

(1) 58 cm

(3 44cm
14." Which o_f' the following ,h-as lowest value of

| electronegativity on Pauling scale? °

{1) Na

() Be

(2) mg
¥ L

15. The moment of inertia of a thin square plate
ABCD of uniform thickness about an axis passing
through the centre O and perpendlcular to the
platé is- ‘ i .
(@l+lz . N

) bl
{c) h+ls
(d) i+ bisla+la
Where Iy, I3, Iz and l5 are respectlvely, the
‘moments of inertia aboutaxes 1,2, 3 &4 WhICh
are in the plane of the plate.

Iy

Select the correct answer using the code given
below - R
(1) Only {a) and (b}

(@ only(a)
(3) Only (a), (b} and (c)
(@) Ali the four (a), {b), (c) and (d) !

13. Qe & TAE F W 40 cm TERE W R
7ol wud Gip G 9 @ W B T
21 I ¥ welt o B e 9§ 18 om SR
3 o ¥ P R 3 T @
20—

(1) 58 em: (@ 64cm
(3) 44 cm @) 60cm
4. gifdir m w), Frafafem § 9 fast
frRoTEaT B AF W B9 87
(1) Na (2} Mg ‘
(3} Be @ L

1. T W B T PR BT, ABCD B

% 0 qﬁﬁ!tafiﬁmﬂﬁ‘iﬁm
STEE &

(a) I+ 12

(b) la+ls

) b+l L
(d) i+h+ls+ls

S8 1y, Iy, 13 O e R 4,2, 3,49 TR

elf & aner e et ¥

ﬁwmwwmgﬂﬁwm
TG PHIRIY —

O R @aw)
(@ R (a) '
@ R (a), (b), T{c)
4 ST =R (a), (b), () F (d)

‘ ds- ®
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16. A body of mass.‘m’ accelerates uniformly from| 18- m SR @1 w fivs o9a ¥ R

rest to velocity vi in time t1. The instantaneous‘!;' Y AT v, TP THEAE WY Y @Ra BT B
. power delivered to the body as a function®of’ fve 1 €t TE AwRae ETﬁﬁ W P BT
time ‘t'is - ‘ _H‘)‘?ﬁqf{ - '
(1) mvit (2) mvidd i (1) mvie {2) mvi 3
B C v & L2 -
@ mdt (&) muf i (3) muit (8) mpvit?
y t . o ty ty N
17. Ultimate acceptor .of electrons in electronf:ij 17. ?ﬁﬁf{ﬁ gRasq o 'ﬁf EECHEIET R Sk 11’1@[
transport system is - ' ' T - .
(1} NADH; @ cytachromec | (1) NADH; © @ gERmH ¢
@0 ‘ @ cytochromeas | () 0z (4) ¥RAFE a
18: A stone is dropped from a height h. It hits the:'}i 18. v weR h HarE ¥ RREm o6 §1 98 SHE
ground with a certain momentum p. If the samé; ‘ W TH ﬁﬁar—r HIT p F THIET 2 o sg
stone is dropped from a height 2h, the . .
PP & TR B 2h Sarg o R oY, o oFE 9
momentum when it hits the ground will change ‘ -
to - - j . CEHRRT TG ST B S —
. |
(1) 1.73p : (2) 1.5p I (1 173p (2 1.5p
3) 1.41p @ .2p f (3) 1.41p @ 2p

19. The muscular wall glzzard of Earthworm consnsts © 19, Gy o wiwe Yy fARY a0 SR € —

of- ,;
(1) Longitudinal and oblique muscle fibres (1? e e e il h‘e[
(2) Circular muscle fibres ' ' @) R ﬁ?ﬁaﬂaﬁﬁ
(3) Oblique'mustle fibres | ' © @) fodle efegel @
(4) Longitudinal muscle fibres ' h (4) wreq Ueiegei @
20. On the basis of data given below, predict Wthh 20, g WY eipel @ -ImR W, gy -
of the following gases shows least adsorption an mlﬁm i Wm%
a definite amount of charcoal? ' © %9 SfErRTT
Gas COz S0 CHd, H2. 7 R CO, 60, CHa Ha
Critical temperature/K 304 630 190 33 | -+ wifae a/K 304 630 190 33
M H @ CHy ‘ MH @ CHs - :
@) co @Wso, @) co; @ 50,
21. Which of the following electronic arrangements 21. gfdqs Fepi A ﬁﬂﬁ{%ﬁ ¥ ﬁ?l‘\'?f
in molecular orbitals is correctly represented?g‘ ' E Lo EEi e RRiq o TS ?
(1 Be,=KK,0,,, &, &, @ Na=KK Lo, - (1) ge,= KK, G, .. ézsz (2 Na,=KK, L, ©,, )

‘s

| i |
®) per=c_,,&., @ L=Ko, L @ peyzo,, b, @ =Ko,
- { . - . -
|
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22,

23.

Christmas f_actor'is alsoknown as -
(1) Factor Il (@ Factor X

(3) Factor Xill (4) Factor IX

The “Red Data- Book”
maintained by -

is published and

" 23

22. g HREG W T S -
(1) B 1 ki 2) TP X &
(3) BRE X J @) FRFIX T

%a:%argw ﬁma%mmm@ﬂ%
@ ardre?

() wwr (1) S=T< TP,
(2} Ministry of Environment, Govt. of India (2) ataRer 5=, qRG GYeR |
(3) The International Union for Conservation of 3) T A AT BR Fae A
Nature : TR ' '

(4) UNESCO {4) TR .

24. Development of female gametophyte in 24 Jed ¥ wmr g"ﬂﬁ?{fiﬁ & Qe g
Gnetum is - _ g -
(1) Tetrasporic (2) Bisporic () sgedones () %EﬁEIT'{],G[
(3) Monosporic {4) Trisporic K5 TH AT (4) ﬁ’sﬂw

25. The gametophytic, non vascular, seedlessplants . 25- 3Rigeg, 91 w4 Gi%?r %ﬂﬁ'ﬂ ’\‘l‘\’ﬂﬂT M,

. which lack complex tissue organization having TR Uy, R tﬂ?ﬂ 'Q‘Q‘iﬁ'\‘w q
alternatlon of generation are - I ® —
(1) Moss: (2 Mushroom (1) g (2) werem

" (3 Fern | @) Algae (3) o @ Yare

26. Two different metallic wires A and B of same  26- G/ 391 U9 @9 o/ @ <1 ==
radius and same length are joined to have a lorig TTgell ® AT B TRI P SIsPN Ue ol ar
wire. If its one end is fixed and on applying force TR AT | 599 U R &7 g o7 g

-on'other end, elongation in this wire is 4 cm. If R W 90 o W 39 O P was H

Yo '= 3Ya, then change in length of wire Bis— %R 4em 2 AT Yp=3¥s, W AR B B
(Y - Young’s modulus) wwTg { URETT & — (Y - T USIRRR TVNi)
(1) 1em @ 2cm (M 1cm (2) 2¢cm |
) 4cm @) 3cm () 4¢cm 4 3em

27. A sample of ‘m’ kg water is slowly heated from 27 'm fF.am. U & wiiesl @ 4R~ T,a@ @

‘temperature Tz to température Tz, the change T, 99 9% T & o 21 9 @) goeid
in the entropy of the water will be - # ﬂﬁﬂ‘rf’r’f BRI
1 | (T;—T) - @ M __ 1 2) _ms__
() mskn (TZ T]_) (2) oY) | | ( ) ms ln (Tz Tl) ‘( ) (Tz=72) |
(3) Ty @) ms(T-T;) 3) Ty (@) ms (T,-T
ms In (TJ) (L 1)' msIn (T1) (To-Ty).
05- ® Page 6 of 32
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28.

29,

30.

31.

The density of quantum states of (E) in.a 3-
dimensional system in the “energy range
between E and E + dE is proportional to m® EY,
here value of ‘a’ and ‘b’ are respectively -

@ 2 nql
2 2

@ 1
2

Three point charges 2g, Q and q are placed

1) 3,2
2 2

® 2 and 3 and 3
2 2 2

along x, axis at points x =-0, x=‘% and x = |

respectively. If the net force on charge q is :iero,

then Qis equal to - '

(1 =4 (2 —q
3

(@) 2 (4 4
2 4

Two particles of the same mass ‘m’ moving. in
different directions with the same speed v
collide and stick together. After the collision, the
speed of the composite particle is E The angle
between the velocities of the two particles
before coliision is - |

(1) 45° (2 120°

() s0° (@ 90°

Which one of- the following is hot a; correct

* Maxwell's equation for harmonically varying

fields?

) .5 @ 7.5 =0

32.

AT Caep, - '—. — e
@ yxH4job=] ® VxE+jwB=0
In arranggment of two -polarising sheets, their
planes are. griented in such a way that light

intensity -transmitted is maximum (Assume

.. MV D=p

28. gt TR E TE + dE § T P Per

FT e Al T m? EP B FAIURN B |
et a WOl b BT AL AN & —

(1)-3@'_1. 2) lggl
2 2 ()2 2
2) 3 .3 4y 1__.3
ALH @ ivis

29. § Reg oMY 29, QT q, x W B IGRY

fdgail et x:O,x:%ﬂ‘\"lT x= TR W &
A S q W B 99l A &, A Q BT AR
8
(1) =9
3

@3y 2

(2) —q
@A
4

2
30. ye gEE m.d o P e fasmen H

W A v § Foid §¢ THIRIN © < S
% R ond | eI ® YT A Bl
o e L ¥1 e @ g A el 3
P W BT E —
(1) 45°

@ 120°

{3) 60° (4) 9p°

31. amadt (sretRn) aRaRfar ast o forg e ¥

T N
@7.5=0

@) yxH+jwD=] @ VxE+juB=0

.32-a’rwaawq%zﬁreﬁa¥rmamﬁsﬁ$

9ol 39 YR AJffa=mRie § fF o urifia
WISl I wimen Stwan &1 (nufad gere

incident light is unpolarised). Through what ., . o agfag 1) 7 W U ul@T @1 fead

angle either.sheet be turhed so that transmitted

vy BT X YA WY RN ORI S

intensity drops to one fourth of the maximum? Taar Aftread o T RIS 98 WY
(N E 2= S - B (1) © gg2m (2) B g 5T
3 or 3%, B oF 6 3 oDz 6 T 6
(8) T 3¢ (4 = () ® g 3¢ @z
o 2 i iion 2
05- ® Page 7 of 32
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33. Inactivation of transcription factor by insertion 3. gRRw e & ENT IFoeY BREG Bl
of virus, that can convert one stable cell type Fipaeor O TF @IR 9ER & HiRET @)
into another, is known as.- TR UpR # gRafia o) G@ar &, weamEr
(1} Teratoma (2) Translation g -

formation (1) =M fopafor 2 giaeRE
(3) Transcription (4) Trans (3) giwfem @ ¢iw fewf~ades
differentiation (ergera) :

34. Which of the following statement is not true for 34 RIT SRR HRMPRT & N BN 91 FuT T8 .
WBC (White Blood Celis)? Tl 87
(1) They are known as leukocytes o (1) 37T WPEEe § FEg €|
(2) Neutrophils secrete heparin f-.a\)l @) =i 2 m‘] H T P L .
(3) Neutrophils are most abundant leukocyt s: ® o . ¥| A

eutrophils are most abundant leu e 5
PRl are 2 e B 3
(4} They are nucleated @) 57 Pego urEr o 2
35. JUPAC name for 35. 0 0 7
0 0 H 2l D
Y | I S CH;— C — CH, — CHy — C — OH
"CH;—C —CH, — CH, — C — OH N - fofT IUPAC <M1 & — o
(1) 1,4- dioxopentanol x (1) 1,4- ST=aiial UveHte
= . o
(2) 1-hydroxy pentane -1,4-dione s (2) 1-TTgEiR U -1,4- SIESA
(3) 4 - oxo pentanoic acid (3) 4 - i YoeHIED 3
(4} 1- carboxy butan -3-one @) 1- PRl e -3- 3if

36. In Young’s double slit experiment, the ratio oﬁ 36. A7 & f§ Refe warT §, ud W Q) gl p
the intensities at two points P and Q on t:hEL‘:"—-’:i U9 Q, S8l AP FA alell aeili & "7l
screen, where the path differences between thes ' . ,

' > A A % IR B9 > T 2 8, TR el BT s
interfering waves are respectively v and b will 4 . :
b BT —
e - =
() @ Infinite > @) eria
2
To]
@2 - © (8 Zero SO @ 2 @) =
37. Calcium plays an important role in which of thé.  37- Fy=ifeifag & 9 foad dfcerm &
) = )
following? 53 g e 872
(1) Oxygen carrier in blood (1) g7 ¥ i a"d
(2) Helpful in blood clotting (2) T BT AFDI T A TERF
(3) Oxidation of aldehydes (3) Wesems & sifedioRor 3
{#) Oxygen storage in muscle tissue @) wraye Saw ¥ sifwies S8
05- ® Page 8 of 32

.



hain

38.

39.

40.

41,

42,

43.

() mr2ps

An  example of  naturally occurring

antitranspirant is -

(1) Phenyl mercuric  (2) Polyethylene
chloride

(3) Abscisic acid

(4) Dimethyl silicone }{’1
The nucleus of U8 emits o—particle and}g
converts into Th?*. The velocity of emitted (x%
particle is v and its kinetic energy is E. Then
Kinetic energy of residual nucleus Th?34 (Km) is -

(1) KTh =117E (2) KTh =117v

3 _ _E N Ko =
()KTh—E @) Koy -
. N
The largest gland of the human body is - i‘:-’
(1) Pancreas (2) Liver &
. ')
{3) Kidney (4) Stomach |
' |
Which of these is not an indeterminate type of
inflorescence?
o
(1) Helicoid (2) spike g}g
(3) Raceme (4) Panicle .'::

[
Map of DNA prepared by cleavage of DNA a?n
specific sites followed by the identification of
the locations of the breakpoints is called -

(2) Electrophoresis
(4) Hybridization

(1) Polymerization

(3) Restriction
mapping

A conducting circular loop is placed in a uniform

5011325

magnetic field B with its plane normal to thF
[
field. If the radius of the loop starts shrinking at

the rate %, then the magnitude of induced emf

at the instant when the radius is r, is -

dr @ pd ‘
- B |

dr

(3 ar (4) 2
2nrB o 7 2nr<B "

38.

39.

40,

41.

42

43.

WG HU Y UI¢ oI dlel URarsigsie &l
T SRR & —

) BT 7l @ difmie
TARTSS \
@3) wiD o (4) SEARE R

UBE 9IG o —Fv Sl PN Th234 #
gl § Ot SIfid o~ T AT V T
TS Sol E 8, O Salne A1ffe Th24 @t
RIS ST (Krn) BRI —

{1} Ky, = 117E (@) Ky, = 117v

@ Ko, =.% @) Kpp =15

A IR B qEY g1 TR B 9@ 2

(1) ap=arera @) Tga |

Q) ga% (4) 3mHEE
Pl § B9 W ouREg yeR @
UsHH FEl o7 '

(1) eioiss (2) ws®

(3) Y {4) e

KIAGRY Hl?ﬂ%ﬁ? o AN @I e wmel
R el o= & uEN Rges gt o
AR ST Yga $= 99191 Wl 8, BEaral
3

(1) FgeIHT (@) ToaRERRE

(3) XRgae "= (8) Fevor

U6 THOH geEaE &3 B # e Acd
TABR o, O ®T a0 e 85 & ]
%,wﬁluﬁqqaﬁﬁwgaﬁﬁt@%
I ], d1 99 &1, SEfe B € o oRke
R a® aat &1 wRAwr ¥ —

() gl @ &
. dt dt
) 2B E 4 qr2p&
dt dt

05- ® Pag%l 90f32




a4 The kinetic energy of a body at "any

46,

(3 20!

displla-c'e'rnentw X is

If dlmenSIons of B are given by M? L2 T¢, then

denoted byK = x2+ Az

a+b+c will be equal to -

1) 4 @ 2

3 7 ' (4 5

I (aq) + MnOj (aq) + H20 {I) = Iz (s) + MnOz (s)
+ OH™{aq)

The coefficients of I, MnOz and H:0 in the
balanced redox reaction dre respectively -

(M 6,1,2 (2) 43,4
(3) 6,24 O] 3,5,4

The work done by aﬁf?oyrge F=5xiN in

displacing a particle fromx=3mto x=5m s -

(1) 751 (2 20)

(4) 801

- The orbital speed of the elettron in the ground

state of hydrogen -atom is v. lts orbital speed
when it is excited to the energy state -3.4 eV will
be -

(1 X @ Y
2 4

() 34v @ =
3

4

- The energy spectrum of a one dimensional

gquantum simple harmonic oscillator is -

(1) Discrete and non- degénerate e
(2) continuous and degenerate
(3) Discrete and degenerate

() Continuous and non-degenerate

44,

45,

e

46.

47.

(3 34v

48.

) 6,2,4

frell " TR W fae qunﬁaxﬁﬁ
Xi’;ﬁw&haﬁﬁnﬁr%lﬂﬁaaﬁ

ERUY MeLETE &, atbtc TS BRI —

(1) 4

@ 2.

@) 7 (4) 5

I" (aq) + MnOy (aq)+HzO (|)—>Iz (s} + MnO2
(s) + OH™(aq) | . .
g sifeiexer — e aRifear
I, MnO; 3R H,0 & TUIid HH: & -

(1) 61,2 @434
'@ 354
o1 F=5xiN ERT T &9 & x=3m¥
x-SmﬂEﬁﬁ'@ﬂﬁﬁﬂo—\’e{ﬁmwm
2 -

_(1),.751 (2). 407 -
(3} 203 4) 801
T T v- &1 T Tl Sfawell.. 3.4 eV H
AR R R g, B, Al B —
mnr- 2 ...
2 4
(4) l -

wﬁﬁuaﬂmwmﬁmmm
W B g -
(1) fafeqT vd sFmwe , .- -

am A

(2) 9ag wd ay

L

) PR v aque ‘

(4) |dd g IFUEe

05- ®

Page 10 of 32




9. Abox of 10 kgis placed on a rough surface. If the

coefficient of static friction is Hs =04, then th#

force of static friction when applied force is

30 N will be — (take g = 10.m/s?)

I

49. 10 kg F1 T <fTW TP GREH, GaE W I
2| I Wik w¥T TN po= 04 B, @
30N 5 TR R RE T g9 29T ~
(g=10 m/s2 )

(1) 20N

(1) 20N (@ 20N (@ 40N
@ 24N @) 30N 3 24N @ 30N

50. Nucleic acids that acts as enzymes are - ” 50. TrEa & aRE o o 9 i Sl

. FEAN & —
(1) Ribozyme (2) Nucleozyme
o i (1) NergH (@) ~frerares

(3) Abzyme (9) Phosphozyme (@) TaaEH 8) PlepraTs

51. The average energy released by the fission] 51 & fiwveq (fission) WfFaT & 200 MeV
process Is 200 MeV. If the reactor is working at/ AT ST g & 21 9 Ruger wrmar
a power level of 8 MW continuously, then the| 8 MW 93T &R R BRIBR £, a Iy ddve
number of fissions per second will be - faaved] 31 T 8 ~
(1) 6.25 x 10v (2) 2.5 x 10% n " (1) 6.25 x 107 (2) 2.5 x 108
(3) 3.125 x.10%3 (4) 2.5 x 10v (3) 3.125 x 10%® 4 2.5 x 10V

52. 52, :

PRI o L 5y
R-C=C-R'+H, ia/Lic N R-C=C-R'+H, a/Lia NH
‘ |__J) Y %Y

X and Y are respectively - ‘ X3 Y e § ~ '
(1) Cis-alkene, trans-alkene “ (1) wuE-YeH, fAvE—Yew
(2) Both trans-alkene (2) g/ fous—Veai=
(3) Both cis-alkene () I FHTE— YD
(4) Trans-alkene, cis-atkene ' “ ) R, THus—YedI

53. Which among the following is an inhibitor of 33 frafREE F A P AT ow IR 61 HGHD
seed germination? . B?
(1) 6-Benzylamino (2} Kinetin , () eafga thmt (2 sl |

purine “ ik '
) GAs (4) Coumarin (3) GAs @) 3RT
05- ®
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54. Which "of these immunog[ébulin is present

.primarily in blood and interstitial fluids and can

1
cross placenta?

M 1ga - . (@ 1gD

@M (@) 1gG
5. |nteraction l;e‘_cween two species in which one
species is benefited and thcle other is neither

harmed nor benefited iscalled - _

(1) Commensalism (2) Mutualism

(3) Parasitism 4 Predation

56. | ook into these two groups =
| Group-l

- {A)Erisilk ) ;
(B) Maggot therapy

* (C)Lac 7 Iy
(D) Cantharidin
Group-Il

(i) Lytta vesicatoria

(ii).Kerria lacca

(iii) Samia cynthia ricini

{iv) Lucilia sericata °

The correct match is -
(1) Aciii, B-v, G-, D-ii (@) A-iv, B-ifl, C-ii, D-i
@ Adiil, By, G, D4 {4) A , B, G-, D-iv
57. Among the fol[owmg wtamlns the one whose
deficiency causes pernicious anaemia?
" (1) Retinol (2) Ascorbicacid’
(3) Pyricioxine : ’ (4):-Cobalamir;. )
58. ‘The pKa of acetic acid and pKb of ammonium
hydroxlde are 4.76 and 4. 75 respectively. What

will be the pH of ammonium acetate solution?

54. frey & W W WRREm TR <@ il
afarel et # e w9 O SuReRy vEdl §

3R ORIl B IR BN GHAl 87
() 1gA - 2).1gD
(@) 1gM @iEs o
85. 3y yoniferdl @ AR SIRIihar Sl T Fo
% oy R & o gl ST @ forg
ol Rae & R 4 & :ﬂl%ﬂ‘cmfr ﬁ?ﬂ?ﬁ
T —
(1) e , gzmﬁqzhrﬁm
(3) TR (4) TrRafR
. 86, fey o) wEl B ARww ~
e '
(A) T Riew ‘ B
(B) e farfescan
(o)
(D) FeniRis -
oE-1n .
(i) forgr S=frbeian
(ii) DRAT <l
(iti) arfiar Raferar R - -
" (iv) R e ‘
A -

(1) Aciii, B-iv, C-, D-ii () A-dv, B, C-il, D-i

(3) A-iif, B-iv, C-ii, D-i, (4) A, B-ii, C-ili, D-iv
7. foerforiact 3 & Rrel Riet o a) & o
"\ XgETeqdl Bl 57

() ¥t (2) Vwpitd It
(3) ERSifT - @) g
5. 4t ol @ pKa e SmRIFEE

W @l pKb ST 4.76 aﬁ? 4.75'%]
SR YIeT fer @I, pH I Em?

(1) 7.005." @001 (1) 7.005 (2)-0.01
@7 . @os1 @ 7 . @951
05- ® Page 12 of 32 .
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| ' | | '
59. “No two electrons in an atom can have the same 59. “fere qeEr] A SRR = geleeEl @Y AR
set of four quantum numbers.” is the- statement] FicH &I T GAMF T8l B aadr 8 17 I8
!

of which of the following? Ho Fretfeifaa § & Reger &7

(1) Aufbau principle IL (1) dfpas a9 -

(2) Pauli Exclusion principle § (2) IS rge Rigra

(3) Hund's rule of Maximum Multiplicity ' (3) g3 ®1 AP sgalar &

() (nd1) rule @) (n+)) Forme , _

80. The electronic configuration of two elements A} 60. &) i A 3R B @7 SeiaEife Rag S
and B are given below, the molecular formula of | fear /a3, A 3R B ¥ 999 arel il &7
‘compound formed from A and B will be - ' MfoasH g BN — |

! A= 15?252 2pF 352 3p3 S A= 1s? 252 2p6 352 3p*
B= 152 25* 2p83s? 3p° o B= 152 2¢? 2p8 3s? 3p5
(1) 'ABs . @A O YN (2) AB
(3)" A:B @) AB; | (3) AB (4) AB,

61. Select the option from the following sets (itoiv) | 61+ ¥ v 7w A (¥ ) 98 Ao ol
which is not permissible for. an electron in an ! S e T\’HTTLT # U gelan @ U wwg
atom- - o E -

(i) n=2,1=1,m=0,s= +§ L (i} n=2,1=1, m=0,s5=+ %
(i) n=3,1=3, m=3, 5=+ (i) n=3,1=3, m=3,5=+2

(iii) n=3, =2, m=-2, s= 1 (i) 1 n=3, =2, m=-2, s= 1

{iv) n=4, =3, m=-2, s=-3-% (iv) n=4, |=3, m=-2, s-+1

|
M odly(® - (@ only(i)  Mdmm @ e (i
i

3) (i) and (iv) (4) (i) and (it} 3). (i) 3= (iv) @) {ii) 3 (jif)
62. The escape velocity on the Earth’s surface is - 62. god] Y wOw W UAEd & 11.2 km/s &1
} 11.2 km/s. If a body.is projected with velocity 15 I - uft TP oG BT G B WaE ¥ 15km/s B
km/s from the Earth’s surface, its speed when it | Uik Hﬁﬁﬁ Fd & o gl & RearhyTT
just overcomes the Earth’s gravitational. field a8 B Eﬂ%‘\’ ffread & sum O Eﬁ"ﬁ
will be {Approx) - . . . (o) —
") 38kmfs (@ 10kmfs, © (1) 38kmfs (2) 10kin/s
- @) 11.2km/s {4 7.6km/s (3) 11.2 km/s (4) 7.6 km/s
f : 63. Substance added to cement to slow down its 63. e @ tﬂ'ﬂﬁ B Tz o1 i P fou
. setting process is - ' ‘ S et S, arer uarf § —
(1) Plaster of Paris (2 Silica . (1) ey e WRw (2) Rifder
(3) Gypsum (4) -Alumina 3) Rregw (4) TeiET

05- ® , Page 13 of 32
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64. Which of the following is not involved in cell 84 agsmRiaa Shat ¥, frafefem & @ @ Gl
proliferation and growth factor in multicellular . PR TERIGHE T4 9f. BT FRE T 87
animals? ' f ‘ '

(1) wicele ¥ o (2) g[S -3
(1) Platelet derived  (2) Interleukin -3 . :
groith factor _ & '

(3} Erythropoietin (4} Interleukin -2 @) Qli‘“’iltili‘iéil © (4) eIyl -2
65, |n angiosperms, the fusion of one male gamete €5 (EEIGNAT § T R TTH B T gdig
" with two polar nuclei is termed as - PEDT ﬁ HeTds ST & —

(1) Triple fusion (2) Apospory (1) Prieaa {2 SOEiIeRT

(3) Double fertilization () Parthenocarpy (3) i (8) FFREBer

66. An electric dipole having dipole moment A is 66. o Ry iy e fiya emeel A & @
placed at origin O, such that its equator, at point fig O 39 woR <@ ¢ & B ¥4 fwn
A is y-axis as shown in figure. The electric field IR y-orT gud PR & Al f99g A W
direction is along y-axis, then angular position of faga & & Ren y-or § ogRw ? @ )
Alr, B)is~ A (r, 0) 3 =rfig Rufa & —

M p=tanlvd @ o= tan’VZ M p=tanlvd @ o=tan'V2
@) 0 =45° 4) §=tan'lV5 (3) B = 45° @ g = tan'yE

67. Which one of the following is an example of 7. ffeifaw ¥ ¥ P _’\HE#EI’IGEF T
covalent or network solid? ‘ Jeqd SN Bl SEERY 87
() caFa @ sic (1) caF; (2) sic
®) co, (4) zns ) co @ zns

68. Which of the following is not a green house - 68- FFfifac § & B9 @ & Eﬁ‘*‘l‘gﬁ'ﬂﬁ'ﬂ Ll
gas? 27 .

(1) co, (2) N0 - (1) co; @ N0
(3) CHs @ N, (3) CHa @N

69. The type of crystal system when axial distances ~ 69- fh¥eet el H UHR oE eEfw gl
a # b # ¢ and axial angles « = 7y -= 90° and a®bzcdR g P o=y=90°3iR
B#90°is - B=90°% —

(1) Monoélinic (2) Trigonal (1) TTar (2) i
(3) Tetragonal (@) Triclinic (3) ferToiam @ frm '
05-® Page 14 of 32




70. Which among the following functions repres'ent 70. =1 Bedl § 9§ B AT T Wifge Wy

a physically-acceptable wave function? : Rl T BaT 87
(1) i(x) = 2x2 () f(x) = 5.sin ? M i(x) = 2x? (2 f(x) =5sin ?

() h?(x) = 9x @ o) = %_ |2x| ' (3) h*(x) =9x @ ox) = %_ |2x]

7. The distance between a convex ens andaplane || 71 tH So@ ol @I Wiae dur & wew gf
mirror is 10 cm. The parallel rays incident on the 10 cm %\I Iad o R IR THERR
convex lens after reflection from the mirror ol g 9§ wefda Sax o & EERE(R]
form image at the optical centre of the lens. & W R gaRl ¥ o N wiew g8
Focal length of lens is - g —
) 40em (2 10cm (1) 40 cm @ 10¢m
(3) 20.cm @) 5cm 3) 20cm @ 5¢m

72. ¢ ]Kxﬁl = +/3 A-E, then the vaIueA|K+§] 72 afy IKXﬁI =+3 A-BEl @ ]K+§|$T‘TFI
is - . _
(M. A+B . . (1 A+B
(2) . ’ @

J (A% + B2 + 3 AB) J (A% + B2 +3 AB)

@) J(AZ+BZT AB) 1 ®J/Ererran
@) [(AZ+B2+3AB) = - - @ [+ B"+34B)

73. Reserve food material in Red algae is - 73. wret darel § SR WHiow genf § —
(1) Florideanstarch (2} Mannitol () iR wd (2 e
(3) Laminarinstarch (4) Glycogen ' - @ dERm Ed (@) AT

74. Chemical formula of hydronitrous acid is - | 7a W 31 T NrEHEfE I § —
{1) HaN204 ' (2 H:N;0, (1) HiN,Os (2) HaN0,
(3) H2N204 (2). H2NO; . . (3) HaN204 (4) H;NO;

- 5. The correct order of ionic radii of Th?*, Gd*, 75. Tb*, Gd3*, Eu?*, Sm3 |q Pm3* & IMIFH

Eu™, Sm* and Pm™ s - - Proar &1 w8 w9 & - '
(1} Tb3> Gd*> Eud*> Sm3*> Pm3* (1) Th**> Gd™> Eu®*s Sm*> Pm®
(2) Pm*+> Eud*> Sm3*> Gd*> Th% ' (2) Pm3*> Eu®*> Sm*> Gd3*> Th3*
(3) Pm3*> Sm*> Eud*> Gd3*> Th** (3) Pm3*> Sm3*> ;Eu3*> Gd**> Th%* -

. (@ Eu3> Sm®> Tb3*> Gd3*> Pm3* (@) Eud> Sm3*> Th¥> Gd¥*> Pm*

76. Which of the following is a group of facultative | 76 fFrfeaa 4 @i a1 fawel 3 gkl
long day plants? . N el &g 87
(1) Pea, Barley, Wheat (2) Pea, Cotton, | ’ (1) 7ex, \—,ﬁ U (2) 7ex, BUR, -

. - Soybean '
(3) Oat, Sorgam, Rice (4) \é\!heat, Soybean, (3) alfe, WK @ @) ﬁ |, arae
ice : .
. 05- ® T ' Page 15 o]tl 32




77. Abnormal secondary growth is found in - 77. g fede gfg ureh o ® -

(1) Dracaena (2 Cucurbita (1) g H (2) gepefaer |
. (3) Helianthus @) iI'riticum (3) eforgeer # (4) fgdpa 4 -

78. In crassilacean acid métabolism; in the 78 ShIAIRTN v SudEY § sifwiel ee @
presencefof which enzyme oxaloacetate’ is s Here ¥ 5w Tonsd & Sufafa #
reduced %malate? 2ar &7 :

(1) Malate (2) PEP Carboxylase (1) e SEESORN (2) PEP STETRRIONT t
Dehydrogenase : ,
(3) Malate Carboxylase (4) Malate Synthetase (3) Hete pratfRer (4) Here ﬁr&}é?{
79. tris-{ethane-1,2-diamine) cobalt (I} sulphate 79. fog - (Td-1,2-Si5VHM) BiETee (1) e
is - c!ﬁ g -
S
(1) [Co (€M)]2(SOa)s (1) [Co (en)]z (SOa)3
() [CO (%\l—CH:-CHz-NHﬂ;;h {SO4)3 (2) [Co (HaN-CH2-CHz-NHz)s]z (SO4)s
(3} [Coi(en)sl S04 (3) [Co (en)s] SOa,,
(8) [Co (HaN-CH-CHa-NH2)]s (S0a): ~ (4) [Co (HaN-CHz-CH2-NH2)]s (SOa)2

80: A current of 0.5 A flows through a wire. The 80 T& AR ¥ 0.5 A ORI Haifda €l &1 R

" number tfelectrons passing through any cross, @ ) Ry wIe § 8 dFvs H YR
section ofthe wire in 8 seconds will be - qre} SolaeiAl B WEAT 'O —

(1) 25 %019 (2) 4 x 108 (1) 2.5 x 10%° (2 4x 108
(3) 6.4 x 10¥° (4)i 4 x 10% (3) 6.4 x 10% (4) 4 x 10%° .
81. For the equilibrium ] | . BL 2NO(g)+Clz(g) = 2NOC (g) ® I #, Ko &1
" 2NO (g) + Cl2 (g) = 2NOCl {g) K & T e B —
‘Kp is relaé}i to K¢ by the relation.
(3) Kp=Ke (RT) (4) Ko =Ke (RT) @) K =K (RT) @) K=K (RTR

82. Which among the following statement is not 82. T/ o A® TR ARl & 6ed H
true for gram-positive bacteria?  Frfolfad § ¥ $19 W Fe W T8 87
(1) Teichoic acid present in the cell wall. () wif¥er fIRT 3 Soise e U W &
(2 cell wall is primarily made .up of (2) P ART YeerarsT B & Bl

peptidoglycan. ) gl .
(3) Thickness.of cell wall is 20-80 nm. (3) FRET ART BT 20-80 nm AeT$ B 1
(@ Cell envelope is composed of three layers. (4) DIRGBT SR H TRAl & o SR B
05- ® Page 16 of 32 -




83. The relation between frequency of the dampelt‘:i
oscillator (@w*) and the frequency of the
undamped oscillator () of a weakly damped
oscillator is correctly represented by -

1
7o) |
2634 _

4m0)

(3) 0" = 0 (1+ mo)

(1) o* ""(00(1-—

Nli-l

@ o = o, (1-

)5 i

84. The relationship between conductance, specific

@ * = w, (

H

conductance and cell constant is -

Specific conductance |
Conducatance

(1) Cell constant =

(2) Cell constant conductance X specific

conductance ”

Conductancee
specific conductance

(3) Cell constant =

(4) Cell constant = conductance — specific

conductance

85. Which of the following lanthanides does not

- vl T TR

occur in nature?

(1} Promethium (2) samarium

‘ 4 3 Cerium (4) Neodymium

86. A dielectric sphere is placed in a uniform

electrostatic field Eq. The electric field inside the
dielectric sphere will be — (g, — Relative
{ permittivity of medium)

mE=(2) &

srs—l)- Eo

@ E=(3) B )

@ E=( @E=(3) E

83. 3req arawf~ea Qe o e Qifem amgf
(@*) T SFeEH=A AfE amRT (o) ¥

== 981 wehdfa far o & -
WM 0" = w, (1 —-L)
% Zmu)
= ol
2
%(2)0) =m°(1_4mo)

* Yz
@) 0 = 0,1+

84. Ao, falre TedE ok O Reris §

L
Ny

TR & —
 wend

=
< . R e
L3 (1) 9 ReRip = ———

HleTdRd

(2) ¥ ReRIF = =i x Al aeea

- EIGLETE
ﬁ‘a)ww_w
Lad]

gmﬁaﬁbﬁ@:mazﬁamﬁﬁmw

L
| 8. Frefead # ¥ @ W adEe oy §

<&l YrET SIrar 87
(1) TFRRm (2) 9IRTw
d
""{3) ARTw 4} fafefm

| Bﬁwmvﬁmwwmﬁgﬂeﬁa Eo

A <7 8 Wigy Mo B 3% &7 86T —
(&~ A P AT YRETRIE)

0E@n @)

@ E=(*3)E, (@ E= (&) B
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87. Which of the following is NOT correct? 87.
(1) The expectation value of-an anti Hermitian (1) To WY 2R WoRE B IR AF Had
operatcr is always imaginary. " Ppredlee BT T ’
(2) Hermitian adjoint of an operator is always (2) T GPRT BT TS WHelH Sﬁ?ﬂ FASEd
equal to its complex conjugate. gty Gl & aRER w %l
(3) The expectation value of a Hermitian {3) v BT HHRT BT YA "am wde
operator is always real. qrifae Biar 8 o
(4) The commutator of two Hermitian @) o7 =S doRet @1 $u RfFTE ufd
operators is anti Hermitian. B B B \
88. A body falls freely from thé'top of atower and it~ 88 U% a%] TP AR &) Ba & H5a w9 F e
th , . oRee iR e §
falls (ﬁ) of the total distance in its last & B ! i & S
- 7 . |
second. The time taken by the body for kal (;g) qf. AT G Al ¥l 9 N
complete motion will be - TfR-qet HH H M T BRI —.
(1) 7s (2) 9s (1) 7s (2 9s
(3) 4s @ 2% (3) 4s @) 25
89. Frequency of crossing over depends on - - 89. Wi faf = & amgRy frk o & —
(1) Number of genes . (1) ST @ Fer )
(2) Physical distance between genes @ <1 oiFl & 99 B W R
(3) Length of genes (3) ST & TRE W
(4) All of the above (8) SURRT W W)
90. Which one of the follow;ng stains is. used in 0. ffy wFMRE @ e o @ g
marking of fate maps? Freafere # 1 i w3 il!Eiﬂi P ﬁ ferar
(1 H toxyli (2) safrani N
afrani |
| aematoxylin nin (1) RietRRifre @) Ah
(3} Acetocarmine {#) Neutral red @) TRBE (@) < ¥ _
81. On treating sodium fusion extract with sodium _91- |feaq WT?F[ frepy &1 WifsTH HE@'ERTE_G'
nitroprusside, appearance of violet colour is due & Gl AP B TR S 6T BT W BT
to which of the following? fr=iRag § § Rrae R 87
(1) [Fe (CN)sNOSI* (2) [Fe (SCN)]z:—' (1) [Fe (CN)5N05]4' (2) [Fe (SCN)]*
{3) [Fe {CN)s NOI* (4) Feq[Fe (CN)s]s (3) [Fe (CN)s NOJ>  (4) Fes[Fe (CN)ela
92. Which of the following element is chalcogen? 92. fwifeiRee # BIF A1 A TP &7
(1) At (2) Po (1 At @pb
(3) Te 4) T ! (3) Te @
05- ® Page 18 of 32
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93. Which of the following has the highest magnetic 93 fy=ifiag fPaer geeom sl Seaw
moment? ” &7
() [Fe (CN)s* (2) [Fe Fe]* (1) [Fe (CN)]* (2) [Fe Fel>
(3) [Co Fe]* (4) [Mn {CN)s]* \\ (3) [Co Fg]* {4) [Mn (CN)g)*

94. A source containing a mixture of hydrogen ant’ﬁ U v wHm Nl TEseE W ggeam
deuterium atoms emits a red doublet at TR BT Fsr 8,4 = 6570 A ) TP @il

= 65704, whose separation is 1.8 A. The o Rrawr urir 1.8 A Scaffa a=ar 2
minimum number of lines required in a plane T W AT, S v it § 59 B9 @1
grating, which can resolve the doublet in the| T o) wp, § s Yawn @ R’flﬁ#
first order is - =T 7 —

1) 2092 (2) 5386 " (1) 2992 (2) 5386
(3) 3650 (4) 9693 (3) 3650 (4) 9693

95. Which of these is, not a characteristic of class ” 95. frfaad & ¥ B O aiferer Twiery 7
Osteichthyes? * weTor I8 87
(1) They are Oviparous, Ovoviviparous, -and | () % 3wy, vs GRS g SRIgSl &)Y

Viviparous ' & ‘
{2} Found in all types of water @ o TPR & v § URf WY @
(3) Placoid scales are present () ©iDiss o U B &
{4) Presence of air bladder ) ) a1 e SuRerg B &

96. Match List-l with List-ll and select the correct . 96. LA BT - 1 ¥ P ARG e g
answer by using the codes given below the & 99 feg v w7 @ SERNY T & 9T
Lists— BT FGT DAY ~

List~1 Er — 1
(A) Mulberry silk-moth . (A) TS BT T B
{B) Muga silk-moth (B) N N¥HBIC
(C} Eri silk-moth (C) W B
(D} Oak silk-moth - (D) 3lieh WH BT
List -1l = -
(i} Philosamia ricini (i) wetrar e RRET
{ii) Antheraea pernyi . (i) vy A
(ifi) Bombyx mori (ifi) g ARE
. {iv) Antheraea assamensis (iv) SR q-\qmﬁqq
- Code - &~
() A-iii, B-ii, C-iv, D-i  (2) A-i, B-iv, C-ii, D-iii () Aiii, B-fi, C-iv, D-i (2) A-i, B-iv, C-ii, D-ii
() A-iv, B-ill, C-ii, D-i (4} A-ii, B-iv, C-i, D-ii (3) A-iv, B-iii, C-ii, D-i (4 A-iii, B-iv, C, D-ii
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97. Which a}n.ong the following hormone is not  97- ‘ﬁﬁlﬁﬁﬂﬁ 3 9 B W1 & o B g

. secreted by placenta? wfag =& g 87
(1) Progestogens ] (1) AR
(2) Human chorionic gonadotropin (2} gu=1 FIRaS MRS J
(3) Human placental Jactogen - ' )] .E;H'fl 13?@!'—66[ Faero
(@) Follicle slimulating hormc:’ne : (4) qCPHRUD i "
98. Which particleis nota Lepton? - , 98. HiF o ot TE ¥
" () proton - - (2) Neutrino | Mwew 0 @ =g
(3 Muon _ (@)“Electron (3) =i @ goEsH

93. Tomato, Brinjal and Potdtc! belongs to which 98- €AY, I T 3] (afrorired) CIEREIE g

one of the family of Angiospermis? ' *
(1) Liliaceae (2) Brassicacede
(3) Malvaceae (4) Solanaceae

& o g AR ¥
(1) frfere=ht @) FdDd
(3) HiTRRR @ e

100. piseases like cystic fibrosis and phenyl ketonuria 100, Riftcs BEAIRG @@ Fga PergRa

are associated with which of the following?

(1) Séxlinked disease (2) Dominant genes

(3) Autosomal () Modifier genes
recessive genes

SR et e ¥ e w87

(1) RiT wea™ oM (2) wrd) S

(3) ST G Tl (4) ASIBTER SiE
Gﬁ-;l- .

101. patch the species in column I with the type of 101. i 1 3 e @1 fram Bie 11 F J6%

hybrid orbitals in column 1l and give the correct

code -

~Column I Column I
(i) SFa (a) sp3d?
(ii) IFs (b} d?sp®

(iii) NG* = {c)sp*d
(V) NH&*  (d)sp®

(e)sp
) (i)-d, (i) ~a, (i) - b, (v) - e
@ (i)-c, (i} - b, (i)~ d, (iv) - e
@ (i)- d, (i)~ b, (i) - e, (iv) - @
@) (i)-c, (i) - 3, (i) - e, (v) -

g —

Hied ] Hiew I
(i) SFs (a) spd?
(ii) IFs {b) d?sp?

(ifiy NO2* (c) sp3d
(iv) NHz* (d) sp®

(e} sp
) (i} - d, (ii) - a, (iii) - b, (iv) - e
@ (i) - c, (ii}- b, (i) -d, (iv) - e
@ (i) - d, (i) - b, (iii)- e, (iv} - 2
@) (i)-c, (i) - a, (i) - e, (v} -

102. gxample of primary, meristem present between ~ 102. IRUTT SHOF D FA UY S qe [

* mature tissue is - .
(1) Phellogen (2) Shobtapical
- meristem
(3) Intercalary () Root apical
meristem meristem

P SIERT & —
(1) HrTeH . 2 e oY .
- fowsa®

@ < R (@) g R
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103.

104.

105,

106.

" Produt ‘A’ in the above reaction is -

107.

@ Strong band at 3300 cm?

|

The vapour préssure of pure benzene at certain

temperature is 0.85 bar; A non-volatile non

electrolyte solid weighing 0.5g when added to

39 g of benzene {Molar mass =78 g mol%) therh_,

vapour pressure of the solution is 0.845 bar. Th
molar mass of solid substance is -

(1) 150 g mol? (2) 340 g mol*
(3 100 ;.mol'; 4) 170'g mol!
The- IR spectrum of ethylalcohal doés not give
which of the followiné peak? -
(1) Band at 29“2111 émt

(2) Sfrong band at 1730 cm™*

(4) Band at'1050 cm?

Classification of class reptilia'is based on -

(1 Prese.nce and absence of certain openings
through temporal region of skuil

(4] Strljc'tu!'e of-heart .

(3) Habit a;ld Habitat

(4) Types of exoskeleton

+  (CH,CO0),Mn
2C,H; +302-3—A3—» A+ 2H,0

(1} 2HCHO (2) 2CHCOOH
(3) CH3-O-CHs, (4) 2CHs0H
Enzymes containing which metal play an

important role.in the pigmentation of skin?

(1) ca . 2). Mg

(3) Fe @ cu

103.

104.

105.

106.

107.

et 17 T g 3 bt AT <9 0.85 R
& 1 0.5g sraroreiiet e aFToeR o @Y 39
g N9 (AR geEE =78 g mol) F werm

AT U 4o T 919 <19 0.845 9% £

I BT HioR F2AN ¥ —

(1) 150-g mol* (2) 340 g mol?

(3) 100g mol} %) 170 g mol™®

el Geptetar o IR W frafefa

W B W TR o A g 87

(1) 2924 e ¥ ‘

@) 1730 cmt o rma i

3 3300 cm IR JEd §s

(@) 1050 cm1WR ¥

ot XA 1wty amnRe & —

) e & ewivsr &9 § @5 Bl @
SuReifer o sl oe

(2) B i W e

@) ¥pmma UF e W

) 918 FE B gHR W

(CH COO0),Mn
2C,Hg + 302_,352_’ A+ 2H,0

SWIT fAfhar ¥ s AR —
(1) 2HCHO (2) 2CH3;COOH
(3) CH3-0-CH3 (4) 2CH;0H

(1) ca (@ Mg

(3} Fe (4} Cu

LY

t

: S ] 4
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*108.

109.

110.

11,

112,

113.

Self replicat'm';g, circular, double-stranded DNA

molecules that occur as éxtrachromqsomal

.units in bacterial cells are called -

(1) Bacteriophage (2) RNA

(3) Plasmid ‘(4) Virus

If following: all four particles have same Kinetic
energy, which one have the largest de-Broglie
wavelength? |
(1) Electron

(3) Alpha Particle

Which feature of Endoderral cells restricts the

(2) Neutron
(4) Proton

movement of water through them?
(1) Presence of casparian strips |
(2) Presence of callose'bands

(3) Presence of chitinous cell wall -
(4) presence of cell inclusions |
"I'he mass of'l mole of gluc?se‘is -
(1) 360.162g (2) 90.625¢
(3) 270.258 g (4 180.162 g

The spin only magnetié, moment of [Co{NHs}s]**
complexis -

() 49D

@0

(1) 1.73D
(3) 2.83D
Consider’ a one-dimensional particle which ‘is

confined within a region 0 < x < a and whose

wave function is y(x,t) = sin (zﬁ) €71 then
a

108.

109.

110.

111.

112,

() 173D

113.

o PR 3 e . o B
w1 ¥ UU W 9 W-ufied, [,
i%?ﬁﬂ?rﬂ@r@qamm%f% -

(1) <ol (2) ARG
(3) T (% a7
Itz farfaRag ari Hoil B TR St T

LY

) g (3

(3) 3TSHT B @) el

o @ B PIRERT B oM @ Rk

S AR § BN drer e uRaed B aiid
CaGIR1Y

() SR w3 SuRefy

(2) el gfeenT o SoReify

(3) Bl gaa M R B SuReIfy
(@) PR T B suRafy

T AT TP BT FHA & —

(1) 360.162 g (2 90.625¢

(3) 270.258 g (4) 180.162 8
[Co(NHs)sl* aqd &1 YT W AR
et &

(2 49D

(3) 2.83D 4 o
@ R B W R AR o

0<x<ad 98 2 o fo@T ¥ Hed

\V(}f, t) = Sinr (g) et 3 ar gy éﬁ'ﬁ[ﬁqﬁ .

%Wwaﬁﬁ—a‘m‘oﬁa@%ﬁaﬁrﬁﬂ'

the potential V in this region is given by - V 39 UBR &A1 S & —
2 2.2
(1) @ V—hm- py— (1) V-hco- 3ma2 (2) V=
(3) Y =2ero (@) V=hio+ 2 (3) V=€ @) V=to+rl
Zma2 Zma2
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115. A lead sphereof mass ‘m’ falls in a viscous liquid

116. 75% of a reaction of the first order was

117, 5 'c_arnot engine whose sink is at 300 K, has an

118. Choose corrict relation between Gibbs free

H-0-H .
—_—— A

O

Product ‘Alls -

(1) CocH,  (2)

CH, —CH,

HgZ+ /H+
O, OCHZCHO
(3) UCHZCHZOH {4) O{

with a terminal velocity v. Another lead ball of

mass 8m will fall through the same liquid with a
, terminal velocity -

(1) gv

@) 2v

@ v
4 gv

completed in 32 minutes. What is the time for
completion of half of the reaction?
(1) 32 minutes (3) 16 minutes:
(3} 8 minutes (4) 4 minutes
efficiency of 40%. By how much should the
temperature of source be increased so as to
increase its efficiency by 50% of the original

efficiency?
(1) 120K (2 200K
(3) 250K (4) 150K

energy (G), enthalpy (H), internal energy (U} and
entropy (S) of a system described by (PVT) -
(M G=H+TS=U+TS+PV
2) G=H-TS=U—Ts4+pV
@) G= H—P\{'= U+TS—PV
@ G=H+PV=U+TS+PpPV

114. C=CH
: —_ A
O Hg* /Ht

118.

115.

116.

117,

H-0-H

A

JUE AR -

(1) O/cocr—:3 2 OCHZCHO

(3) __. CH,CH,OH (4) CH, —CH;
Q-, < Q/ .

m SR BT U A BT el 39 39 § v
T T 9 RRen €| 999 59 4 8m gorme

mﬁﬁwﬂmﬁv@wﬂw%%w
& -

(1) gv ) v

(3 2v- 4 ay

Ser BIfE B T AfhAT @ 75% qof gy &
32 AMe oW, B9 emm B, F o wma
R

(1) 32 fase (2) 16 fim1e .

(3) s fame @) 4f¥e

UF B g, o Ria @1 @ 300K R,
a%aaamato%%laﬁﬁzr‘»ﬁmﬁmﬁrgﬁg
YRR & $ 50% ¥ 9¢ P
(1) 120K (2) 200K

@) isok .
(PVT) & SR T fera & forg. firew s
FEll (G), TOS (H), AIRE Hutt (U)o
TULTAl (S) 4 8w g —

(1) G=H+TS=U+TS+PV

(3 250K

2 G=H-TS=U—TS + PV
(3 G=H-PV=U+TS—pV

(4)‘G=H+‘PV=U+TS+PV

05-®
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119.

120,

121.

122.

123.

-(1) Antiport

The density of a linear rod of‘length L varies as
p=3x where x is the distancelfrom left end. The

distance of centre of mass from left end-is -

(1) 2L ) L
3 4
(3) & (@ L
3 2
Coiling of shell in Limnaea peregra is affécted
‘ o ¢
by -
(1) paternal genes
(2) Chromosomes
(3) Maternal genes
(4) Maternal and paternal both types of genes
DNA  fragments  separated by  gel

electrophoresis are visualised by staining with
ethidium bromide under UV radiation, the
colour of these DNA bands (fragment) is -

(1) dark blue (2) bright orange

(3) black (8 bright green

The transport acn:oss the membrane through
carrier proteih-which allows molecules to move
across independent of other molecules s
called - ' )

(2) Symport

(3) Monoport {8) Uniport’
DNA polymerase | is also known as -

(1) Meselson enzyme (2) Teminase

(3) Kornbergenzyme (4) Baltimore enzyme

5011325

119.

L‘wéﬁm‘w'mm P=3x P
Wﬂﬁﬂﬁﬁ?ﬂ%\ﬁﬁfxﬁiﬁmﬁ?
§ i ¥ g b B A RR W gl

-
(1) 2L @ L f
3 ’ 4
(3) 4L Co@rL
3 2

5011325

5011325

-h

5011325

- 123,

21.

WWW}{WWWH‘T@H@W

(1) 4= Al BN

(2) oA BRI

(3) HIgH T g

(@ i T e < IR B A g
39 SORERRY FN ggd UL P

‘ﬁﬁ.ﬁmﬁm‘cﬁ:{aﬂ#wﬁ@.ﬁﬁ.

s (feen) s < § -
() TR e (2) =t

(3) B @) TwE &

e S BT R & AR—IR STl T

TR el § WA WU W HIET wEell

5
(1) e \ (2) Ryare
(3) W @) e
DNA TR [T eonsvreen

05- ®
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124. The theory of evolution proposed by Lamarck is 124 WP B ERT Fff?f'iﬁﬁﬁ Slgsm™ @1 fagia

|

called as - DEART § —
(1) Theory of inheritance of acquired characters () STt oreront &Y demiRy o7 fyeig
(2} Theory of natural selection (2) il T2 @1 Regia
(3) Thedry of pangenesis 0 U=iER 9 R
(4 Theory of artificial selection s @) qﬁ%m TIT BT Ragic
125. Gene therz;py was used for the first time in ]?3'1{30 125. S ﬁlﬁb?x'ﬂ BT Ygell W4T 6 1990 % U
| to treat the deficiency of which of the follog?]g AR I F= F b @ o9 3y X B Eﬁ“
l ' in a four year old child? W0 o frar =y anr? '
1) fhymine triaminase (2) Adenosine | (1) o iH SRS () SR
diaminase SRR
(3 Thymine diaminase 4) Adenosine ﬁ @) odF SERT (9) wERIRE
tri;'zlminase g RGNS
126.The  borid  present between gt%lo | 126. 3} AFNONES TR @ ey eiPREsS
monosaccharide units to form a polysacchartde T & Ty SuRerT oy 2y & —
isa-
(1) Peptide bond (2) Vander Waals f@‘fge (1) Irgs s (2) TSR At g
@) Glycosidichond  (4) Hydrogen bond‘“ (8) *azPIaERT @ (4) T gy
127. cytoskeleton comprises of - fﬁ 127. wrsenior (@it PDE) H By § —
F (1) Microtubules and microfilaments (1) HIE?ﬁEW Tg qﬁiﬁmﬁw
. @ cell membrane ‘ (g ot vd v «ig)
() Golgi complex A2 @ Wﬁ%
e (3) resil Heger
@ cell junctions = @) BT — S
o

128. To observe Fraunhofer diffraction fromasiigle - 128. worer Rere & Wieior Rgde & BT B
slit, the light wave front incident on the sijt for, fere W amufda wemr wF =8y —

should be -
(1) Spherical (2 Elliptical (1 Ty (2) dreighig
(3) Plane {4) Cylindrical @) v9aq @ Yy

05- ® Page 25 of 1?2
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129, \Which of the following noble gas does not form 122 frfRad § ¥ PN SFE e i

" clathrate compounds with quinol? T AT DT < TR 87
MHe . @Ok (1) He @) Kr
(3) Ar (@) Xe - (3) Ar (@) Xe
130. A well;known analgesic, anti-inflammatory ~ 130- 7% Tslgi;l?ﬂ:c’lﬁ & frans, TE-FIEey,
antiplatelet and antipyretic drug is - QAT T4 GRIIRRISE <91 g -
(1) Aspirin (2). Chlordiazepoxide (1) SRaf= @) TARSEIH RS
(®) Ranitidine {9 Terfenadine @) ARRE @ e
131. |n Science topics like pressure; temperature, 131-13_*31?; ¥ <, IO iR e S BT
humidity must be correlated with which 1 TEEa Rea v S g aEe?
iect? - .
::)bllfﬂcs;ic. . (2) Fine Arts < @) ifers el
(3) Language (4) .Geography ' (3) wrsT () +Tna
182. Characteristics of scientific method are — 132, 3t TR o e € -
(A; Objectivity ' (A) SIS
(B) Verifiability | (B) TG
(C) Predictability | . (C) ARrerar &w
(D) Subjectivity ) | (D)mﬁﬂﬁm?n : a: |
(E) Indefinite " (E) rfviferaan
Select the most appropriate answer from Sy oy ) Rl # & waitie SHYRE SR 1
options given below - _ &1 T BT — "
() {A), (B)and.(E) (@ {B),(C)and (D) (1) (A), (ByTT (E) (?) (8), (C) T (D}
@ (A), (C) and (E) (@) (A), (B)and (C) (3) (A), (C) T2 (E) t(4)-"(A), (B) T2 {C)

133. Who is the Patron of Science club in the 133, Rrerrerat 3 s gorw 1 wRed (U5) B

school? “ ‘ BT '
(1) student of senjor (2) Monitor of the.class () A wem @t (2) HETT B Hiex

- class , R ' ;
(3) Head of the (4) Teacher- incharge (3) e s (@) R

Institution
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13,

- () Science as a product

135.

-(3) Scientific theories |

Different processes of Science such as

Field trips place primry emphasis on - -

(2) science as a process.of inquiry

(9) Scientific laws '

observation, Mmeasurement, classification etc.
are included in which pait of the nature of

. Science?

136.

(1 Sacial perspective of Science

(2) Substantlve structure of Scuence

(3) ‘Syntactical structure of Science

{4) Conceptual scheme of Science

Student will be able to explain thé process of
fi ltratlon This objectlve is refated to which one

of the follow:ng category? )

) Comprehensmn (2) Knowledge

- 3) Analysis (4) Evaluation

137.

138.

in which stép of 5€’s constructivist approach

students relate learned concept with other

reiated concepts and apply their knowledge and

understanding to the real world?

(‘i) Explore (2} Explain

() Elaborate - N (4} Engage

Which one of the followfng is a -Iimitation ‘of

inquiry.approach?

(1) it minimizes verbal learning.

(2 1tis based on intrinsic motivation,

@) In this the instruction -become student
centered rather than teacher centered,

9 This learhing takes more time than receptive
learning. :

134, 81 3oro7 eifves o9 W a2 § -

() =TT Jedre & wy

(@) RS T g7 Y whar & vy

@) AP Rt o

@) FTie Frmt w
135&!3!1??!%%%@@@%%

mﬁmwaﬁﬁamﬁw%%ﬁmwﬁ
e &

(B
() s & wmfre aRYey
@) Rs 9 s et
@) e # R weam
(ﬂ%aﬁmaﬁw

136. ﬁmﬁﬁmﬁaﬁmaﬁwmﬂﬁl

(1) Sy @ 99
@) Rzdwor - (4) i

‘137-55ﬁﬁamé1wma%ﬁmﬁqﬁﬁﬁmaﬁ

SRS & SSa ¥ @R o 519 v
mwmwﬁaﬂﬁ%‘? |
W& Qe )
@) fae ) wormy |

'i:ns.ﬁwﬁrmaﬁ@zﬁmﬁw(w)m |

@ G AT 87

("7 iR AR BT w9 Py 2
'(2)a€afaﬁzﬁe®ﬁwwamrﬁa%|
(3) S argeer Ried ey 7 B By
D B £
(ﬂmmaﬁwaﬁwﬁmw
'crmar’s‘l
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139, Following-are sonie characteristics of a teaching

139@%@%@%%@6@%&@3

‘method — - i \
(A} Problem oriented (A) AT DiEd
. (B) Purposeful act- (B) Sezaqel fsar : : .
(C) Completed in natural as well as social ‘ ) (C) @R & e & SIS ATAERT o
environment f{\ﬂf Bl % )
Identify the teaching method which has alf of fomor fafdy ) weEE T R, R T-ICI'\PI?ET Tﬁ'*ﬂ
the characteristics- B - - e € -
- (1) Inductive-Deductive Method (1) arrr— forre A
(2) Project Method ‘ L @ wrer R

- (3) e o R

@ g{\ﬁﬂ%‘cﬁ fafer

140. jn Science laboratory, which of the followingis 140 gy wavTen # a4 ¥ B
et Y @ ad B I 8 |
(1) ST R e el <R

@ Haﬁmaﬁeﬁfﬁrvﬁiﬁ? ,‘
@ i @ ot e g m

{3) Problem Solving Method.

{8) Heuristic Method

* the stock register in which daily use and

consumption of articles are entered?

{1) Necessity indicator register
{2) Non-breakable-register

~ {3) Register for consumables

{4) Purchase register - (@) wa R
141. pccording to Bloom’s taxonomy of educational LA B S St & iR B IR
objectives, the hierarchical order of categories

<feTeTTee TE @ ORI BT SR € -
of cognitive domain is - ‘ ' ‘
(1) SITEE— SR ge oIS T~

(1) Comprehension - Knowledge — Apphcatlon-

Synthes:s-AnaIVSIS-EvaIuatlon
(2 Comprehension-Application-KnowIedg‘e-

-

Svnthe51s-Analysns—Evalu?tlon

{3) Knowledge- ComprehenSIon—Applicatlon-

Synthesis-Analysis- Evaluatlon

(4) Knowledge-Comp}'ehensmn-Appli_cation—

" Analysis-Synthesis-Evaluation -

@3 ﬁﬁ—aaaaﬁu.—aqﬁqd‘lﬂ— ]

(2) ST R e Tor-
LIC
e

@ m—mﬁﬂ—aﬁqﬁv—ﬁsﬁw— i
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142 Which  type”

recommended

of Science
by

Framework - 20057

curriculum s

National  Curriculum

(1) Hands-on, inquiry based
(2) Subjett centered

(3) school based

© (4) A_rea baséd_

143 Which of the following test measure students

critical and independent thinking/expression? _

(1) Objective type test |

(2) Essay type test _

(3} Selection type test
.. @ Muttiple choice type test

144. The difference between science club 'activitie§

and classroom activities ig -

(1 In Science club' students are provided
activities to do whereas in classcoom they
are fr:ee to choose activities.

{2) Science club activitiés are informal while
classroom activities are formal.

(3) Science club activities are in strict system

whereas  classroom  activities

" freedom, | .

t

(@) In Science club pupils work to satisfy teacher

and in class to satisfy their parents,

provide

—

143,

144,

142: 158, Tt B wavaE—2005 gRT R

87

) s (e ), i Team (gem)
@ frwr Bt
(&ﬁmamrrﬁa

(4)a§3ranmﬁa '

fﬁrwr%mﬂﬁmaﬁﬁmuﬁm 7e

Wwawﬁﬁﬁ/aﬁwﬁﬁm

AT Rt 87

() =g yoR & gl

(2) eereTs yer & qde

@) 77 YPR & gfeor

() SERea voR & e

ﬁaﬁaﬁavﬁrﬁwwzﬁm—fﬁavﬁﬁw

Admama- :

(1) RaE 7o 4 Renial o i o
%‘g"ﬁﬂﬂﬂﬁﬁﬁﬁ%ﬁﬁﬂim—iﬁﬁﬁﬁ
TffaRrEl B g % forv e B &

@ R wd B R Ry
Gﬁ%zﬁm—maﬁﬂﬁrﬁmaﬁwﬁm
g1

®) e dorw A TRRRRY POk ()
WO F E‘H’r £ el ?ﬁm—m BH
vﬁﬁ@mmaarmaﬂﬁr%l

(ﬁﬁwqmﬁﬁamﬁamwaﬁﬂge
T B R R wEwg § .
w—ﬁmﬁwaﬂﬁzﬁwmm
g
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145. | Science Olympiad, Vivek scored 80 marks. He 145

applied for. second attempt after a ‘week. In

_second attempt also he scored 80 marks. This

- characteristic of test is known as - .
(1) Difficulty level (2) Discriminative
(3) Reliability (4) validity

146. The concept of teaching aids is based onwhich 146

of the following psychological principles?

(A) Acti\(e participation of the learner

‘(B) Activating sensory organs of the learner

(C) Teacher centeredness

(D) Providing concrete arid diréct—experiences
Select the correct option by using the code given
below -

Code-

(1) (A), (B} and (D) (2) (A), {C) and (D)

(3) (A), (B} and{(C) «4) (B}, (C) and (D}

147. Teacher is taking remedial class. The remedial 147

teaching of teacher is based on the analysis of

which test?

]

(1) Achieven"ient test (2) Norm-reference

test

(3) Personalitytest (4 Diagnostic test

 148.-While teaching, teacher states the rule and then 148

presents examples to clarify the rule. The

method foliowed by teacher in this situation

is -
(1) Inquiry (2) problem solving
(3) Inductive (4) Deductive

g fiaaas . 3 fagg ¥ 80 3@ wNA

fr| SN TP WEIE B 91§ TR AN B
forq amiEe ReaT| TR WA ¥ A TET 80
SEREIEE] frg| whEer 3 g R B
ST I § — '

(1) HIE—RR (2) fEaiar

@) fwgeimar @) Jga
Wﬁﬁ%aﬁﬁéﬂﬁaﬁﬁ'ﬁaﬁ
R fRwoT AT WY STRIROT, ARG 87

() et @ wfRa A

(8) SRRTEpE & AT ST P WispT TR
(C) e Sivaar
(D) 7 TE ST S S

4 R R e @ werE el RAee

R BT — -

we -

() (A), (8,7 (D) (@ (A), (0), 7 (D)
@3 (A}, (B), &1 (C), @ (B), (), (D)

Mmmﬁam%iﬁwm

ST T fre e @ e W

EnRE BFT? '

(1) ol Wesr (@) A wed
‘ © ORIETl

() e oQEwr (@) FEreEm— TR

T TR W R Teel FRW Jaw g,

e PR B EER oy SaTeRel e

W%Iﬁ%msﬂqﬁﬁexﬁﬁm

T faffr @ -

(1) =T (2) e AR

(3) amE @ fre -

05- ® - , Page 30 of 32




.

149. “seience education should enable the learner to

150.

know the facts and principles of Science and its
applications, consistent with the stage of
cognitive development.” This aim of Science
education guides that -

(1). Same content should be taught at all levels.

(3) Same teaching methods but different

assessment techniques should be at
-~ different levels. _

(3) dbjectives, " curriculum, methods,
assessments etc. should be.different for
different levels.

(4) Different” teaching methods but same
asse’ss‘ment téchniques should be at
different levels.

A teacher compare, contrast and associate new

knowledge with prfevious knowledge. Teacher is

in which step according to Herbartian approach

of lesson planning?
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(1) Step-3 (2) Step—1 (1) et — 3 (@ Harr — 1
(3) Step—4 (@ Step—2 (3) T — 4 @ gy — 2
|
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